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In the figure above, AE || CD and segment AD ( D X

intersects segment CE at B. What is the length of
—
segment CE ? ) 9\ X —

3.@> 1,and a + b = 2, what is 2.
value of a — ?’L- o 2 /Y =&
T * —l =l

2
B) 14 @ZW — (& +i) (&t/b>
C) 16

D) 18
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2.) What is the sum of all values of mt\hfat_;a.ﬁsL
2m?-16m+8=0 X=-b it (p> ac
. 2o M
i ==

B) —43
C) 43 = ﬁ%’
D) 8 (

4.) The graph of a line in the xy-plane has slope 2 and n_— o

contains the point (1, 8). The.graph of a second line
@ d (2 1). Fthetwo (, 3)

passes through the poi
lines intersect at the point (@, b), what is the,value of
a+b? Y1 =M X=X)

A) 4 L/—X-;él(/(—m

5D Y- §=2LT e

C) -1 = 0’1/<+’



5.) Which of the following equations has a graph in the
xy-plane for which y is alway$ greater than or equal to
. (gt

A)y=lx|-2
B) y=x%-2

a=(x—2)2 - /|

D)y=x3-2

6.) When 4 times the number x is added to 12, the result
is 8. What number results when 2 times x is added to 7?

A) -1 Z%X""/Z";—
0>y =

o =

D) 9 /}X‘\//] :ﬁb



